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Maximum stresses due to internal pressure
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(3) This occurs at the wall edges in the part of section with largest wall thickness which is in the

flanges(ty)
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This occurs at all points on the outer edges of the thin-walled section because t=constant.
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Max stress occurs at outer edges of short horizontal leg (max thickness).
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(1) From symmetry arguments, centroid is on axis i2 which is a symmetry axis. It is at the

midpoint of the web because the centroids of the flanges and web all lie on this same vertical line.
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All shear flows flow forward to or from vertex B. Shear forces due to these shear flow can't make

any moment about vertex B.
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Moment equipollence at semicircle center :
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